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FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

The compound interest on ¥ 10,000 in 2 years at 4%

per annum, the interest being compounded half-yearly,
IS :

10,000 ¥IC T 4% dMfteh Ahdglg oS &l X W, IS
&N B B: HEH 9] NSl S df 2 9ui o feha
mgml?

(1) ¥ 636.80 (2) T 824.32
(3) T912. 86 (4) T 828. 82




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

At what rate per annum will ¥ 32000 yield a
compound interest of ¥ 5044 in 9 months interest being
compounded quarterly ?

IfE =TS I ®9 | WA @, 9 = &t fohd anfies
W 32000 & H 9 HE H THhqglg oA 5044 %.
BT 7

(1) 20% (2) 32% (3) 50%  (4) 80%




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Tchd g SATST 3T TTUROT SATST o siie 2 I 3 3 IuI oh 3TdL T 3141
ba ) - | | i
8:27 & dl Tshd i SATSI shl TNk &L AT h{? The ratio of the difference

between 2 years and 3 years between compound interest and simple

interest 1s 8:27, then find the annual rate of compound interest.?

1.37.5%
2.50%
3.25%
4.12.5%




FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

The compound interest on ¥ 2000 in 2 years if the

rate of interest is 4% per annum for the first year and
3% per annum for the second year, will be

2000 %. @1 2 9H 1 dhdfg AN, Slaich oATSl ol &%
A 98 % fau 4% aifties qen fgdia o6 & faw 3%
aiftfer §, -

(1) T 142.40 (2) T 140.40
(3) T 141.40 (4) T 143.40




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

What does ¥ 250 amounts to in 2 years with com-
pound interest at the rate of 4% in the 1st year and
8% in the second year ?

T 250 %1 TR TEe T H 4% SR T I8 H 8%
ahgfg s I fohar B ST ?

(1) F 280 (2) F 280.80
(3) ¥ 468 (4) T 290.80




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

aﬁ%ﬁﬁfﬂﬁﬁmaﬁﬁwﬁmﬂﬂwmﬂmﬁwz Y TG Ashdll<
SIATST 2860 THAT & SATST 3hl G AT hl?

If the simple interest on a certain amount 1n the third year 1s ¥ 400 and

after 2 years the compound interest 1s T 860. Find the rate of interest?

B15%
2.18%
3.20%

4.25%




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

skl (g SATST ST HTLROT SATST o6 i<l 2 I8 3R 3 Il oh 3L kT AT
13:42 240 SETIEEIS shl ATiNeh ST FTd shi? The ratio of the difference

between 2 years and 3 years between compound interest and simple

interest 1s 13:42, then find the annual rate of compound interest.?
1
R21—%
13
1
2 23— %
13

1
3.20—%

13
4. NONE




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The compound interest on a certain sum of money for
2 years at 5% is ¥ 328, then the sum is
i fordl TRT W 5% hi S W 2 I8 h( Tshdlg AN T

328 2 d =g Uy faat 2 ?
(1) 3000 (2) 3600 (3)F 3200 (4) F 3400




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The time in which ¥ 80,000 amounts to ¥ 92,610
at 10% p.a. compound interest, interest being
compounded semi annually is :

Ifs &A1 Hl A SISl SE, df T 80,000 i AT
10% ATfteh Fehgfg &N & W fhad ¥99 ° T 92,610

Bl S ?

1
(1) 1 o5 Yyears / &Y (2) 2 years / L

1
(3) 2 o years / d5 (4) 3 years / L




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The principal that yields a compound interest of &
420 during the second year at 5% per annum is

i o1 UM W 5% Gfderd ki ST W T G4 420 FIT H]
TJhgfs = faerar 2, o 9ot ufer feat @ 2

(1) F 7,000 (2) F 5,000 (3) F 8,000 (4) F 6,000




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A sum of money is paid back in two annual instalments

of ¥ 17,640 each, allowing 5% compound interest
compounded annually. The sum borrowed was

FS TAURT AMh ARG i X Y 5% THgG TS T
gfd 17,640 TIT =] 3 At foredl § g Sl 21 39
R off T8 AT foha-t efi?

(1) F 32,800 (2) F 32,200

(3) T 32,000 (4) T 32,400




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The compound interest on § 12000 for 9 months at
20% per annum, interest being compounded quar-
terly is :

12000 ¥TIT T 20% Ufqe™ T = W 9 HIE 1 IATTS
w9 § GG Ishgfg <A fohdan g 2

(1) T 1750 (2) ¥ 2089.70
3) T 1891.50 (4) T 2136.40




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

3

If the amount is 35 times the sum after 3 years at

compound interest compounded annually, then the
rate of interest per annum is

I S AUy diftish whglg oSl & 3ER W 3 99

- N 3 .
h1 <Achdfg oIS uns?<=h<3g TH B ST, O A o

aiftier =T farat 22

2 1
(1) 25% (2) 50% (3) 165% (4) 335%




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

If the difference between the compound interest,
compounded every six months, and the simple
Interest on a certain sum of money at the rate of 12%

per annum for one year is I 36, the sum is :

afs foedt TR &1 12% arftie & W 9 &/ B: "M
q% W WME Thdlg oA 3R HIERUT SN o
T ¥ T 3R 36 TIC & g€ A fHa 22

(1) T 10,000 (2) T 12,000
(3) ¥ 15,000 (4) ¥ 9,000




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The difference between simple and compound inter-
est compounded annually, on a certain sum of money
for 2 years at 4% per annum is ¥ 1. The sum (in I)

1S .
frdt UfsT W 4% aiftfer =<1 st X 9 2 99 ok

TR A1 3R Tehdfg oS 1 3R 1 T 7, i
=I1et ¥fd a9 Fafed gia € | 98 ¥R (9di W) 2
(1) 650 (2) 630 (3) 625  (4) 640




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

On a certain sum of money, the difference between

the compound interest for a year, payable half-yearly,
and the simple interest for a year is ¥ 180. If the rate

of interest in both the cases is 10%, then the sum is
fret ufer w, srganfiss ®9 9 <7 Thdfs = IR 34
TR T T 6 & AE 16 1 3iak 180 o1l AfE 3
Ml feafal § &I &1 R 10% @ =, @ ga TR
ELEIRIV

(1) ¥ 60,000 (2) T 72,000

(3) T 62,000 (4) T 54,000




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The compound interest on a certain sum of money at
a certain rate per annum for two years is < 2,050,
and the simple interest on the same amount of money

at the same rate for 3 years is ¥ 3,000. Then the sum
of money is

fordl o= fdt W e Fiv=a ¢ ufd 99 | S 99 &1 9hafs
&S F 2,050 % SR SaAl B oY 9T SaAl & & W 3
o T HIEROT =< T 3,000 B kel ST fohat € 2

(1) T 20,000 2) ¥ 18,000
(3) T 21,000 (4) T 25,000




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A sum of money invested at compound interest

amounts to I 650 at the end of first yearand I 676 at
the end of second year. The sum of money is :

HIE TR Thglg = ° U8t 98 & 31 H 650 %. IR

T a9 % 3Fd H 676 T B S &1 98 ERT 2-
(1)T600 (2)T540 (3)T625 (4)T 560




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & Use PROMO CODE : E06321 /

In how many years will ¥ 2,000 amounts to ¥ 2,420
at 10% per annum compound interest?

10% dftish =shgfg =TSl W 2,000 %o fohad a8 | 2 420

TqU Bl S
1

(1) 3 years / CL (2) 25 years / CL|
1

(3) 2 years / L (4) 1= years / L

2




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If the compound interest on a sum for 2 years at

1 . . .
12—% per annum is ¥ 510, the simple interest on
the same sum at the same rate for the same period
of time is :

1
g foedr eAufe o IZE%Wmﬁzaﬁaﬂ

Thdfg AN 510 To B, df I &URT 1 I T d

It B HHIAEY T "IERT AT B—
(1) T 400 (2)T480 (3)T 450 (4)T 460




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

At what rate per cent per annum will § 2304 amount
to< 2500 in 2 years at compound interest ?

forg a1ftier &I &1 X W 2304 %. Thqfg oIS § 2 99
d 2500 % B SN ?

(1)%% @4z% (3 45% (@) 45%




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A certain sum amounts to I 5,832 in 2 years at 8%
per annum compound interest, the sum is

Fig TIURT Thgls &ms Hi 8 Ffava arfie X ¥ 2 99
T 5832 ¥UT B AT 21 98 YR 23—
(1)¥ 5,000 (2) ¥ 5,200 (3)% 5,280 (4) T 5,400




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A certain sum, invested at 4% per annum compound
interest, compounded halfyearly, amounts to< 7,803
at the end of one year. The sum is

iz EAUNRT, TSaMys® &9 § FANSa dehdfg oA &l 4
FfaeTd arftieh X 9 o9 1 W TF 99 & A< | 7,803
TUU Bl 81 T AT B

(1) T 7,000 (2) T 7,200

(3) ¥ 7,500 (4) ¥ 7,700




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The compound interest on < 6,000 at 10% per annum

1
for 15 years, when the interest being compounded

annually, is

R |
6,000 TIT HT 10% ATtk =T i T F 15 CEfCT

Ghdlg oA, S oS it &9 H HAfSd e g,
BT
1) 2910 (22870 (3)T930 (4) T 900




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

What is the difference in compound interest on ¥ 5000

1
for 12 year at 8% per annum if interest compounded

yearly and compounded half-yearly

5,000 9T 9T 8% dliteh oA ki <L § 1%65?@84@

aiftieh &9 ¥ Fifeld qe1 aifties &9 | HaAifsq sl el
Thgls TS B A BT—
(1) T 8.16 (2)X 8 (3)T4.08 (43 4




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

The difference between the simple and compound
Interest on a certain sum of money at 5% rate of
interest per annum for 2 years is I 15. Then the sum

IS .

frdl g0 W 5% diftdeh &9 i & § 2 o9 o
TR SR Fhefg oSl hl Hl 15 T & a9 o8
TR 8-

(1) 26,500 (2) ¥5,500 (3)Z6,000 (4) T 7,000




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A sum borrowed under compound interest doubles
itself in 10 years. When will it become fourfold of
itself at the same rate of interest ?

ahgls AN & I<d IUR o T Tk EFEART 10
gt ® AT e S 2l 98 A SH AN R W W
fohad O9T H 399 | AR T &1 S ?

(1) 15 years / 99 (2) 20 years / CL|

(3) 24 years / L (4) 40 years / CL|




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

A sum of money becomes eight times of itself in 3
years at compound interest. The rate of interest per

annum is

hiIz T Fohgls oA | 396 | AUAT 1S THI BT Sl

| I HI diftie < Bfi—
(1) 100%  (2) 80% (3) 20%  (4) 10%




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A sum of money placed at compound interest doubles
itself in 5 years. In how many years, it would amount
to eight times of itself at the same rate of interest ?

HTE YUY Thdig oS 9 5 I8 § AT 8 Sl 81 SHl
S i X Y g8 FAUT fhad w9 ° 31 THr gRiT?
(1) 10 years/ﬁlﬁ (2) 15 years/EI'Gf
(3)7years/aﬁ (4) 20 years/EI'Gf




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

If a sum of money compounded annually becomes
1.44 times of itself in 2 years, then the rate of inter-

est per annum is

I HIE gAY diftieh YR W Aehdfg oA W 2 99
T SO 1.44 T B W €, O SE SN i dlth

foraet 27
(1) 25% (2) 22% (3) 21% (4) 20%




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A sum becomes ¥ 2,916 in 2 years at 8% per annum
compound interest. The simple interest at 9% per

annum for 3 years on the same amount will be

Wk MR 8% Ufd o1el =ishdfg oSt W 298 H T 2,916
g St @1 3E R W 9% fded FrERer s it ) 9
399 % foru = =m-

(1) I 600 (2) I 675 (3) I 650 (4)I 625




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The difference between simple and compound inter-

ests on a sum of money at 4% per annum for 2 years
IsI 8. The sum is

fedt g7ufn W 4% aifties &I & W F 2 98 &
TIEMRUT qe awhdfg ==l &1 F=<I 8 o @ |
ST RTT—

(1)T400  (2)T800  (3) T 4,000 (4) T 5,000




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

If the compound interest on a sum for 2 years at

1
125 p.a is ¥ 510, the simple interest on the same

sum at the same rate for the same period of time is

Rl lzé%uﬁraﬁmzaﬁﬁw R Tehdlg AN T
510 % o 39T < W I T W IH @ty w1 WERm

st fohaem g
(1)T 400 (2)T450 (3) T 460 (4) T 480




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The compound interest on a certain sum of money at

a certain rate per annum for two years is ¥ 2,050,
and the simple interest on the same amount of money

at the same rate for 3 years is ¥ 3,000. Then the sum
of money is

fordl gt Wt f=Ea X ufd a9 W 99 =1 TGwdfs
IS 2,050 ® 3T 3a1 & ¥y W 3a & W W 3
% =T FIERU =S T 3,000 21 < el S fordet 2 2

(1) T 20,000 (2) T 18,000
3) ¥ 21,000 (4) T 25,000




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A man borrows ¥ 21000 at 10% compound inter-
est. How much he has to pay annually at the end
of each year, to settle his loan in two years ?

Teh ARHT 10% Fehdfg &AM 9 21000 FIC 1 0T ol
21 B TY & 3d § U TUer fmar Ui < g2t foR
sl H BT Rl A &l S, ?

(1) 12000 (2) ¥ 12100 (3) I 12200 (4) ¥ 12300




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The sum of money which when given on compound

interest at 18% per annum would fetch ¥ 960 more
when the interest is payable half yearly than when it
was payable annually for 2 years is :

hiz ¥4 TRT 54 18% Wfd I8 i Fhdfg oS & W &
STt ] 961 § dehgig oA dlft® <F 8M W HTa &ATs
¥ TURI AN 3 BH W 960 TUC AfyF fHait %
TR T 22

(1) T 60,000 (2) T 30,000
(3) T 40,000 (4) T 50,000




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /
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/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /
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/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /




/@; %aéeamé// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /
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/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Ifa=17,b=15¢c= i of -128, then what is the value of

a’+ b3 +¢? -3ahc?

Eﬂﬁa:1?,b:15,t::-128ﬁ%%,?ﬁ53+b3+ﬂ3 - 3abc &1 O &1 ©72




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

3 men and 3 boys can do a piece of work in 10 days. When one man is replaced by a
boy, the work is completed in 12 days. In how many days will 2 men and 2 boys
complete the work™

3 oY 3{R 3 Tsh U I &l 10 &9 O U1 &R gahd ¢ | old Uh YSY Bl U TSP EN
yfaeiad fear ol g, dl e 12 fe 8 91 81 Al B 2 Y9N 3R 2 dsh 39 B B
fora- fa o o1 3172

20 days
15 days

22 days

25 days



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

The mean score of class A of 40 students in the mathematics test of 30 marks is 23.
The mean score of class B of 45 students in the same test is 22. What is the ratio of
the mean score of both the classes to that of class A?

30 3l DI T TIOI B TI&T H 40 ST B Dafl A DT S{Hd 31 23 8| FHH TR H
45 BT DI D&M B BT 37T 3w 22 T1 T I3 & AT 3 3R D&M AP AR
3{@ P U 1 572

380 : 391

391 : 382

390 : 382

382 : 391



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

20% of the toys produced in a factory were defective and 25% of the remaining were
damaged. If 4800 toys were in good condition, then what was the original number of
toys produced?

U HREM H Iadred Raa=i & F 20% <0l & iR A9 T H 25% &ifcawd 41 7 4800
Rad =31 fufd ° 9 d1 Iqried fadH] @1 ardliad g a7 i

9000

8000

10000

6000



MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Rahim purchased 20 kg of oranges at the rate of Rs. 45/kg and sold them at the rate
of Rs. 54/kg. During this period 1.5 kg oranges got spoiled. He sold the spoiled
oranges at the rate of Rs. 10/kg. His net gain or loss percent is:

Ieid = 20 U I9a¥ 45 9/fGU &1 23 9 @il 3R 3. 54 9U/H0 ®f g3 I a§4911 59
SR 1.5 U1 Sd< W4 81 7| 3H- Wd 8¢ Hdi &1 10 39d/fhU1 i 33 I d94T]
3UPT Y oy T 51 Uid=Id B:

12%% Ty

13%%3@

14% cilH

149 BT+




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Two trains starting at the same time in opposite directions from two stations 200 km
apart meet each other at a distance of 110 km from one of the stations. What is the
ratio of their speed?

200 fopdl &t g3 ux [Ud g1 TE1 O v 81 99y U fausdid faxnsii O Io arell & ¢4
Uh-gae o U ¥ 2H I 110 fadl ol g3 U= el €1 3-ep! 1id b1 3-dId o1 57

11:9

12:8

13:7

10:9




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

A and B borrowed the same amount for the same period. A borrowed on simple
interest at the rate of 8% yearly. B borrowed on compound interest of 5% half yearly.
At the end of one year the ratio of B's interest to that of A's interest is:

A 3R B = IHH Haf¥ & o0 90 «-RIRT 3R 1 A = Jid 99 8% TR 4TS & &%
Y 3R fe@n| B 7 3i< dlitieh 5% Fehdls odlal @i &3 § SUR el U ay & 3id o, B &
&Il 3{R A D o416l &l SUId o

40 : 41

32 : 41

41:32




Mmé,// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

A water tank is made of an aluminum sheet 3 cm thick. The tank is open at the top. Its
external dimensions are 1.36 m, 1.06 m, and height 0.83 m. What is the cost of
painting the inner surface of the tank at 50 paise per 100 sq. cm?

U Ul Bl Sopl 3 T AT UegHii-iad &1 9rex d d-1 81 €abl HUR d el 83 ol S9D]
|l 3H 1.36 Hiex, 1.06 Hicx 3R $dlg 0.83 Hice ol 50 UH ufd 100 a7 IdT &t
g3 U Tl b AdD gy Bl Mg B! Arld fHhd-l 82

Rs. 219

Rs. 240

Rs. 249

Rs. 149




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO cODE : E06321 /

Simplify

1 1 1 1
1.2.3 2.3.4 3.4.5 4.5.6




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & Use PROMO CODE : E06321 /

0.3+ (0.6 x 2) x 0.2(0.2 x 2+ 1 +0.2)

1.5
0.15
0.02

0.05




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & Use PROMO CODE : E06321 /

Rs. 9,000 is divided equally among a certain number of students. Had there been 20
more students each would have got Rs. 160 less. What was the original number of
students?

9,000 UL i T© Bl & aid JHH =49 I fayIieid g Sirar g1 afe 20 S R g8id dl
U i 160 ¥Ud Y Oad | BE] & diidids =1 &7 417

29

30

39

20




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & Use PROMO CODE : E06321 /

f(a+b):(b+c):(c+a)is6:7:8andalsoa+b+c="14, then what is the value of
c?

10

12
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A student reaches school on his bicycle in 3/2 hours at a speed of 8km/h. On the
return journey he rests for half an hour and takes a route which is 1 km shorter. What
should be the percentage increase in the speed of his bicycle so that he reaches
home in the same time?

Uch BT U1 Tigicd I 8 fapHi/dacT &1 7fd ¥ 3/2 ¥c H ol Ugadl © | argsil =1 &
&R 98 1M del faym oxdl g 3R 98 Ari g4d1 & <l [ 1 6! Sler g1 Sl
Orgfehd &t Tfd | foed- ufd=ra 1 gfs g1 =nfeu i3 o g8 9u 90g o 93 Ugd

SITE?

30.5%

37%

37.9%

39%
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A shopkeeper purchased a machine for Rs.70,000 and spent Rs.5,000 as overhead
expenditure. Had he purchased the machine at 15% less, he would have earned a
profit of 15%. What is the selling price of the machine?

U gobMaR = U ORIH 70,000 ¥Ud H WRIE! 3 5,000 $UU U0 o0 & =49 O @4
fohu | Ofg dg O &1 15% HH G Weiadl, dil 34 15% o1 rH Sidl | JH20H o1 fdshd
O o §67

Rs.74,000
Rs.75,000
Rs.74,175

Rs.78,175
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A solid metallic cylinder of base radius 3 cm and height 5 cm is melted to form cones
each of height 1 cm and base radius 1 mm. How many cones were formed?

3 I YR Far 3R 5 961 $ds & US o1 Ui & da- &I [Oudare uds 1 96
Fdrs HIX 1 T smue BFear & =i @9 Siid g | fdea- 2igp g7

19,500 91

10,500 P
13,500 TP
12,500 TP
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In a class 82% students passed and 2% students were placed in the reappear
category. The number of students who failed was 592. What was the total number of
students in the class?

Uh D& T 82% BT 30U 8U HR 2% Bl bl YTouiedd 4uil T @1 T[™1| 3ol g4
arel faeidal 1 Hwear 592 ot | e o faenidal o1 o Tw=ar fed-r 4i?

2700

3600

2000

3700
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Three traffic signals change at intervals of 48, 72 and 108 seconds respectively. They

start changing simultaneously at 8:20:00 hours for the first time. At what time will they
change again simultaneously?

diF ¢lthes e He: 48, 72 3R 108 U s & 3ideld UX g4dd o | d dgdl a9k 8:20:00
gol U A1y el ¥R= Hd © | d [y 99y (B 9 Us 91y d@galii?

8:30:00 U¢
8:27:12 Uc
8:40:00 U¢

8:25:00 Uc
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A window in a building is at a height of 10 meters from the ground. The angle of
depression of a point P on the ground from the window is 30°. The angle of elevation
of the top of the building from the point P is 60°. What is the height of the building®

U SHRd H Uh RISH! SHA I 10 Hiex Bl Hdls U o | RasH! I SHH U U fdg P
1 3G9 HIUT 30° © | fdg P I sHRd & 2Y &1 3994 DIV 60° § ISHRA Bl Hhdlg
fera-t g2

35 Hiex

20 HIeX
40 HIeX
30 HIeX
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secld+tand@ 5

It secHd—tanéd B 5 then

sin 0 is equal to :

1

(2) 3

S
@ 7

(1)

WIN |-
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If sin 5 0 =¢cos 20° [ 0° < @ <
90°) then the value of 6 is

(1) 4° 2] 29°

(3) 10° (4) 14°
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The product cosl® cos2° cos3°
cos4° .... cos100° is equal to

1
i) =i (2) =

(3) 1 (4) O
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_ 1 2 1—cos 24 oy
Tl cot A = 7 g, dl Cregq PIAM ST

1.5

s | =t




